Question Paper Preview

Question Paper Name: Bio Technology
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[Iathenatics
Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780943803 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B8 are 20 and -8 then the trace of (A+E ]} s

Options :
L 12
« =12
. 28

28
4.

Question Number : 2 Question Id : 6780943804 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

w1

If 4= o s an Invoiutory matrix then x=

Options :
1 L
-
X —~1
d, -

Question Number : 3 Question Id : 6780943805 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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I
e
b

loge loge™  loge

L

The determinant of |loge® loze loge’ |is

3 .
loxe”  loge

Options :

i

tloge

L

Slog s

Question Number : 4 Question Id : 6780943806 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

L L i
T3=-2 1 3| then det(adidi=
i_li} | 2_
Options :
1 det 4
et 4"
=l
.
[dat 4}
- |

Question Number : 5 Question Id : 6780943807 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A. B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
; AB

; U

Question Number : 6 Question Id : 6780943808 Display Question Number : Yes Single Line Question (dntion : Nn Ontion
Orientation : Vertical
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Aav4 2 A Syv+{
If "" = '

: = | then 4-C-2=
(v+12v-+3) v+l 2y~ +3

B —

Options :
&
1.
L2
2 3
P

Question Number : 7 Question Id : 6780943809 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

l -y then o i =
(v—alx—D0) x—od v =h |

If

Options :
-,
=2
R |
12
3.

I_l.

Question Number : § Question Id : 6780943810 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ranf357 =

Options :

!

1
=

¢

| 2

—]

I

E

Question Number : 9 Question Id : 6780943811 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7l | . %
IT taner = i tan [ = then tanie + &) =
i+ 1 i+

Options :
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Question Number : 10 Question Id : 6780943812 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of 6xin 70 —S<in” 20" =

Options :
1. 2
i
3 \E
J3
3,
]
5
4.

Question Number : 11 Question Id : 6780943813 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 2o+ JeosB =5 then the value of 4siné —3cos8 =

Options :

O
-1

L

oy

Question Number : 12 Question Id : 6780943814 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 Is

Options :
2T
SIE]

| 1
T
SR
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Question Number : 13 Question Id : 6780943815 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin- = Scea- v s

Options :
a!

1.

. 3

. O

.

, 34

Question Number : 14 Question Id : 6780943816 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation ~f3sinv+cosy =4 has

Options :

1 Qnly one solution

two solutions

. Infinite solutions

L

no solution

Question Number : 15 Question Id : 6780943817 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The solution of Cas™ {f3x])+Cos™ .1:"—; is
Options :
L
1~
i
s

|| ==

oy
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Question Number : 16 Question Id : 6780943818 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin @ +sun @+ 1205 —si1 20— &)1 =

Options :
1. {:I
2111 &7

!

I

—111

Question Number : 17 Question Id : 6780943819 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of CosecA =451 13

Options :
v
{4
Tl
i
=
; &
a.
+2 7
4.

Question Number : 18 Question Id : 6780943820 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

L

f |22 1| = | +L then z lies in

Options :
1 The real axis
3 clfcle

The Imaginary axis

L

a parabola

4.
&
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Question Number : 19 Question Id : 6780943821 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-.
-

SETRUNNSESE

|t =40 then & an b oare
- | ] -
11— L1+

-.
1

Options :

K
2.-2

. {.-2
U.-1
4,

Question Number : 20 Question Id : 6780943822 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the line +=2v+ris atangentic +- — 1+~ =2 then the value of ¢ is

Options :

, 2

La

L

3
4
-

Question Number : 21 Question Id : 6780943823 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0 i3

Options :
=t L
1.
_ 4.1
==l
3.
4.1]
4,

Question Number : 22 Question Id : 6780943824 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of tangents to the ellipse ':_ | ':_ =1 through (2,1} 1s

Options :

. O
@collegedunias
India’s largest Student Review Platform

i



|
—%

L

Question Number : 23 Question Id : 6780943825 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The tength of the latus rectum of tne nvperbhoia - — =1 s

Options :
| 2
]
3. 4
" 3

Question Number : 24 Question Id : 6780943826 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

The length of the diameter of the circle v 3y —6Gar—81={is

Options :
.10
5 10
5. 9
, 20

Question Number : 25 Question Id : 6780943827 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the line 21 = sx+ 7 touches the parabola - =6x then k= ___

Options :

|
r_';_.l_l__ ’_.I_Jli.,ll

oy
' | A

' | S

4.
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Question Number : 26 Question Id : 6780943828 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| gt ‘."{ — E‘
[2111 —
et Y — 2

Options :

]
-

g £
g

Question Number : 27 Question Id : 6780943829 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
s

=l

If Fia)=il=x3% is continuous ai + =10 then 7=

Options :
. ¥
~ E
a
3.
1
4 £

Question Number : 28 Question Id : 6780943830 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

't
If v =s3secd. 1r=5btané then T:
TAY

Options :
3
—seC &

[

1. L1
£y

—oorec &
«

7
— e 7

£

I

7
—CoEeC

0
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Question Number : 29 Question Id : 6780943831 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

W;Ty:wffytheﬂ-ilzz
¥y
Options :
log v
' (14 log vy
ooy
 {I-logxy
—logx
ﬁ i1+ logx)-
i
—1
. {l+lmgﬂﬂ2

Question Number : 30 Question Id : 6780943832 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if 1=s5m °

Options :

]
i
[+ 37
=
4T
.
2
| — &
4.

Question Number : 31 Question Id : 6780943833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
{3

The slope of the normal to the curve y=awecf. v=agtand at f=— IS

Options :
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Question Number : 32 Question Id : 6780943834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of 2 circle with respect 1o radius when r=5¢m is

Options :
27 sg.cmisec

107 sg.cmisec

1tk sg.emisec
i i

2l sg.emisec
4,

Question Number : 33 Question Id : 6780943835 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vihich of the following function has maxima or minima?

Options :
1 ¢
- logx
3 _

. T T
.

S11T.Y
4.

Question Number : 34 Question Id : 6780943836 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if the Increase In the side of a square 1s 2% then the approximate
nercentage Increase in the area of the square Is

Options :

| £

e

4
5
g

4
&
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Question Number : 35 Question Id : 6780943837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the function 7ix)= lﬂgf:.*-.'j +— 17 ). which of the fol.owing Is truga’

Options :

foA 7, =D

Lo

Question Number : 36 Question Id : 6780943838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-1

| cossc” & ot ddd =

Options :
cotT 7

ﬂ_

. %
:.:D.e'ecﬁ' e
3. 'E']
&
—Ccocer
2 X

Question Number : 37 Question Id : 6780943839 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R :
a Y
: _
s A =
Options :
™
oz —
1 T3
il
log —
T3

L

collegedunia:

India’s largest Student Review Platform




>
log —
3. __'!
log i
1
4

Question Number : 38 Question Id : 6780943840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

&
. %
If o 05 then |_‘ﬂ{1-:
o
Options :

L

Question Number : 39 Question Id : 6780943841 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I

-‘

-1
VIR T Oy =

(i
Options :
|
T .
1.
|
% -
i |
R
3
T 1
g 3
4 B

Question Number : 40 Question Id : 6780943842 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
g

I l s
hm 2} —e? =

H—sir w] i

Options :

| £
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| L+ &

}
i1—e)
3.
(e —1)
4 - ’

Question Number : 41 Question Id : 6780943843 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

- G
| sec” xdv =
]
Options :
o
1A
2N
2
A%
=
3. 3
]
-
4.

Question Number : 42 Question Id : 6780943844 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=logx. x-axis and the straight line

v—g =(} |8 sguare units
Options :
1. €
e —1]
. U
.
| — &
. |

Question Number : 43 Question Id : 6780943845 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating ohe arch of the curve
1= 53y about the X-axls 15----

Options :

T
1
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Question Number : 44 Question Id : 6780943846 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

r=cv—c” |8 the general solution of the differential equation

Options :
-:-l £ ll'LII A i [ -.‘}'l g
1' ‘ — 3| — J+1 =1
L v s
1.
s
77 _
.-:. - I,}
AT
A
- B I::-.
A
3.
“dv T R
— v — [+ =40
T R
4

Question Number : 45 Question Id : 6780943847 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The general solution of the differential eguation i+%:1 IS

T B

Options :
N
1= 34 e-
1.
B
=a+ce -
.
o
A =c+pd
3.
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Question Number : 46 Question Id : 6780943848 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the family of curves v = a0
where g and o are arbitrary constants. Is

Options :
'I: T
Ty ah
il =: .1I_
T (i
.
d v o
T— =\
. A
Ty ; § o
GO t"f’j]' '
Y=
(I LGN
3.
7 .
il K
—_— -'1“_ — f:]
N i1

Question Number : 47 Question Id : 6780943849 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

-ﬁ

w 3 3‘*. '
T v F Ldy =i+ AT idr =008

Options :

£ *
1

L

L

Question Number : 48 Question Id : 6780943850 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation whaose solution is 4y~ — Br~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree

&
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780943851 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The general solution of the differential eguation —

Options :

-

Y=o cosf e sy leT

1.
: - Ty
T =0 COSN 4 On 51X )
= T o T & S I S Sy

A=y OO AF Ty 81l 7 I
3 B

F=le 005 2a +on s 2 e
=3 }

~Av =1 |5

Question Number : 50 Question Id : 6780943852 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The particular integral of (D —2)" v =sin 2x is

Options :
Cos
| S
113
] &
— o0 2
E
3 —
— 3111 2
]
4. -
Plyysies
Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

~

i

collegedunia:

India’s largest Student Review Platform



Question Number : 51 Question Id : 6780943853 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of

Options :
1 moment of foree

ltnear momertum

L

torce

L

ressuie

Question Number : 52 Question Id : 6780943854 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+hi“ where t is the time. The dimensions of a and b

=11=

Options :

1 MLT™, MLT™

MLT ™, MLT™

MLET ™, ML“T

o

MLET ™, MLYT

Question Number : 53 Question Id : 6780943855 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + &) and having a magnitude of 5 1s

Options :

| 47+ 3j
12: + 167

1

16 +8)

L

30+ 4y

Question Number : 54 Question Id : 6780943856 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L

sin 'K

I

sin*{1/K)

Question Number : 55 Question Id : 6780943857 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball I1s thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum height reached by the all 1s

Options :

lem

_2'Drn
A0m

1

!

J

40 m

Question Number : 56 Question Id : 6780943858 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the horizontal with

same velocity simultaneously. Ratio of their horizontal ranges Is

Options :

1 Va2

rl_

23

| 1.2
g 2.1

L

Question Number : 57 Question Id : 6780943859 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 15 caugnt 2 seconds later by another at some distance

away on the same level. If the angle of projection is 30Y, the velocity of

&
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Options :



19.6 misec
1.

. 9.8 misec

4.9 misec

oy

a7 misec

Question Number : 58 Question Id : 6780943860 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. IT there s no flow and he swims with the same

velocity, the time taken to cross the river is

Options :
B
o S20
T i
1
20 sec
2o sec
.
; 253? =C0

Question Number : 59 Question Id : 6780943861 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional force along the Inclined plane Is

Options :

. 1LYE N

0.98 N
049N
, 0.245 N

| 2

e

Question Number : 60 Question Id : 6780943862 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact is

Options :

0.2

&
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0.4
0.8
0.1

J

Question Number : 61 Question Id : 6780943863 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Duirng this process, the force on the
cycle due to the road is 200N and 3 directly opposed to the motion. The work

done by the read on the ¢ycle is

Options :

1000 J
, 20004

-1000d

J

- -20000

Question Number : 62 Question Id : 6780943864 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain height. After 9s. Its Kinetic

energy 15 =10 mis”)

Options :

. 5
. 50
5 KJ

J

UK

Question Number : 63 Question Id : 6780943865 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 200 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

YWhat would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
900 W

q

Question Number : 64 Question Id : 6780943866 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At t=0, the displacement of a particle In SHM Is half its amplifude. lts nitial

phase s (referring to mean position)

Options :

5L
-

-

153

1

B

L

Question Number : 65 Question Id : 6780943867 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendulum is 100 cm. To have a period half of this value,

the length 1s 1o be reduced by

Options :

25 om

]

7o cm

L

50 om

b

100 om

Question Number : 66 Question Id : 6780943868 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

1 directly proportional to volume

Inversely proportional to sound absorption

-

&
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hoth directly proportional to voiume

and
inversely proportional to sound absorption

-
.

) depends on iemperature

Question Number : 67 Question Id : 6780943869 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon Is different from that of 2 mosauito becatise

Options :
1 the sounds have different pitch

they are of different size

L

the two volces trave! with differani velacities

L

the sounds have different phases

Question Number : 68 Question Id : 6780943870 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1!
-0

A car s travelling at— m/s and sounds horn of frequency 980 Rz, The

apparent frequency heard by a police chasing the car at LE mis (v IS the velocity

of sound) Is

Options :

1 P90 Rz

900 Hz

100 Hz
;. 1000Hz

L

L

Question Number : 69 Question Id : 6780943871 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internal energy Incrs

"
- L
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entropy of the system Increases and internal energy increases
3.

entropy of the system increases and internal ehergy decreases
4,

Question Number : 70 Question Id : 6780943872 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falls from a height of 3 mig=5%.5 mfsz}. Assuming that the

whole energy 15 converted inte reat, the amouni of heat produced Is
Options :

1 2 cal

2.7 cal

_-ﬂ,-::a\

I

| 4.2 cal

Question Number : 71 Question Id : 6780943873 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 moles of a ¢das, the change in internal

energy was found to be equal to 100 J. Tne work done during the process will

be egquat to

Options :

1 FAS] RS,

-100 J
200 J

I

100 J

Question Number : 72 Question Id : 6780943874 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

et

The pressure and density of a diatomic gas { y =;'] change adiabatically from

AL

G.r.‘
(Pdito(P'd"). If — =232 then — is

” F

Options :

1 128

v 32
&
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. 206

.

5, 04

Question Number : 73 Question Id : 6780943875 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovyle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

Isochoric cnanges

L

s0topIc chahges

Question Number : 74 Question Id : 6780943876 Display Quecestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal Is v.. When a light of frequency 4 1. Is

" m
2

incident on metal then the K E.. Oof emitted electrons s

Options :

2 U-h
1

3 :'E. h
4 v.h

L

1

Question Number : 75 Question Id : 6780943877 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Superconductors are materials

Options :

y dielectric

paramagnetic

|

ferromagnetic

o

dlamagnetic

Chemustey a
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780943878 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Pauli exclusion principle 1s cencerned ~ith

Options :

. Energy of orbital.

opin of electron.

Energy of electron

I

Angular momentum of electran

Question Number : 77 Question Id : 6780943879 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Accarding to Bohr s mode| of hydrogen atom, the following is guantized

Options :

1 Linear momentum

Linear velocity

Angular momentun

I

Anguiar velocity

Question Number : 78 Question Id : 6780943880 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicular nodal planes

Options :

- Two

Thres

-

Four

L

- |ye

Question Number : 79 Question Id : 6780943881 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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N sodium chloride crystal. each Na™  ion is surrounded [y

Options :
Twwn C ons

Faour O lons

| J

Sk Ol 1ons

L

Eight ClI Ions

Question Number : 80 Question Id : 6780943882 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vinich among the following meleclle contains a M- 2ona

Options :

¥

L

A

Question Number : 81 Question Id : 6780943883 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhich among the following 1s Insoluble in water?

Options :
Alcohol

Ammonia

Banzens

I

Acatonea

Question Number : 82 Question Id : 6780943884 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H-50, solution is

Options :
1 U.46N
.23 N

.

1 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780943885 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of nolecular weight 40 1s dissolved In 200 g of 'vater, Then the
molality of the solution 1s

Options :
0.4

1.

. 0.8

y 3.2

, 08

Question Number : 84 Question Id : 6780943886 Displayv Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH wvalue of 0.05M Ba{OH)- solution is

Options :

10
.12

13

11

L

Question Number : 85 Question Id : 6780943887 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following moleculs 1s not a Lewis Base”

Options :

H-0

[

1
BF-

L

INH-

o

L

O

Question Number : 86 Question Id : 6780943888 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electrolysis of birine, 710 g of Cl. was liberated at ancde. The weight of NaOH

formed
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- 800¢

400 g

L

-~ dlg

e

, 4lg

Question Number : 87 Question Id : 6780943889 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i the Danniel cell, which &lectracls acts as aradsa?

Options :
U

1.

, Hd
ik
Pt

4

Question Number : 88 Question Id : 6780943890 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ| s more than that of NaCl hecause

Options :
. NaCl is more polar than KCi

- NaCl 1g 1onic while HCl Is covalent

lonic mobility of H™ is more than that of Na™

L

H™ get hydrated.

Question Number : 89 Question Id : 6780943891 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrdimsz

drams ampele

LHl

- Coulomi

e

Grams per cotlomb

Question Number : 90 Question Id : 6780943892 Display Question Number : Yes Single Line Ohmection (Onfion * No (Intion

Orientation : Vertical
]
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Zeolte softening process removes
Options :

Only permanent hardness of atar
1.

Only temporary hardness of water

I

Both temporary and permanent hardness of water

-.

L

- The dissolved gases in permanent hard ~ater.

Question Number : 91 Question Id : 6780943893 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water is caused by the presence of
Options :
Bicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates of Ca and Vg.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780943894 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatiment of water uses to consume wastes in water.

Options :

Fitration

Sedimerdation

Chemicals

Lo

Microorganisms

Question Number : 93 Question Id : 6780943895 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangearous form of corrosion s

Options :
1 salvanic

Fitting

]

&
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Lrevice

s
.

Siress
4

Question Number : 94 Question Id : 6780943896 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhen Pt and Co are electrically connected. «which one gets corroded?

Options :

e
Pt

1.

L.

NCre

, both

N

Question Number : 95 Question Id : 6780943897 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Joseph C. Patrick iried {o make antifreeze’

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

I

| Thiokaol

Question Number : 96 Question Id : 6780943898 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was called

Options :

| Bakelte

Nylon

L

Dacron

L

" Lellulose

Question Number : 97 Question Id : 6780943899 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile fiber that Is wrinkie resistant and streng

&
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ellulos=

!

Dacran

Eakeliie

L

Nyilon

Question Number : 98 Question Id : 6780943900 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixturs of

Options :

. H-.+ CO

=f

Ng+':{:}

HE =+ ':"-:}E

I

H-+ CHy

Question Number : 99 Question Id : 6780943901 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vithich of the following 12 not a greennouse gas’y

Options :

IGD

L CO.

—

wWater vapour

L

H4

Question Number : 100 Question Id : 6780943902 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fusls causzes
Options :

Global warming
1.

LUzone depletion

~ Acid rain

L

Eutrophication

&
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780943903 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Which of the following 15 not a 2o e of Inoreanic ratrogen for
incdustrial nucrobes?
Options :
Amanonitan sulphate

Di-anumonium hvdrosen phosphate

ATNTIT01A

L

Proteins

Question Number : 102 Question Id : 6780943904 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Sulphite waste liguor 1z a by-product of
Options :

Suear industry

Drairv mdustry

L

Leather mdustry

Lo

4 Paper industry

Question Number : 103 Question Id : 6780943905 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ot the tollowing 1z wsed as an antitoaming agent in fermenters’

Options :
Methanol

Slicomne compounds

L

Ethatol

L

PEG

Question Number : 104 Question I1d : 6780943906 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :

Propagation step
3

Dovwnstream processing

L

g FPilot =cale termmentabion

Aain production termentation

Question Number : 105 Question Id : 6780943907 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ameme the tollotving is the chisapest sowrce ot carbon tor
[ndustrial fermentations?

Options :

VNolasses

(1l e

L

Fractose

Question Number : 106 Question Id : 6780943908 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Peptones are preparved v acid or enzyme hyvdrolvsis of

Options :

1 Hich lipid material

Hizh carbohi-drate material

Hioh siigar material

I

Hich protein material

Question Number : 107 Question Id : 6780943909 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicly 1z a imiatabion of liguid bioterbilizers over carrier basec
Ferfilizers?
Options :

1 Longer chelf lite

O comtanuination

&
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Better survival on seecs and so1l

-

.

Low export potential
4

Question Number : 108 Question Id : 6780943910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowving 1= not a bio-pesticide!?
Options :

 Chitosan

[n=ect plhisromones

; Azolla
Bt Eoxin
4

Question Number : 109 Question Id : 6780943911 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ot the tollowwing does not come in the category of biopezticides?
Options :

1 Macrobial pesticides

Plant incorporated protectants

I 2

Biochentcal Festicides

Lo

(_henucal pesticides

Question Number : 110 Question Id : 6780943912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whiclh of the tollowing 15 not a biotertilizer?
Options :

Fhizobinm

Azobactor

Acrobacternum

I

AzZospirilum

Question Number : 111 Question Id : 6780943913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the cell theory

Options :
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All the orzaniam are composed of several cells

1.

_ Life conttinues to evolie a new with sach new cell

. The smallest living thive 15 a cell

5 _

; Newrcells arise spontaneously when conclitions are rizhi

Question Number : 112 Question Id : 6780943914 Display Qucstion Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Which among the tollowing is the miost appropriate detimztion of

Biophyeics!?
Options :
L zine and developing tools roan olvrics to shwds

biolosical svstems

3
- Study of phvsics

Study of phvsical chenustiv
: Studv of chemical properties

Question Number : 113 Question Id : 6780943915 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Which amony the tollowing 15 not an area of hiophyvsics!?

Options :

Medical Imagsing
1 '

Structural biclogy

-

Sisterns bioloay

L

Microbioloey
b .

Question Number : 114 Question Id : 6780943916 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

VWho propozed cell theory ¢

Options :

Jaseph lister
1.
) Robert oaclh

~

i
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Niteh

I

Schletden andd schveam
3

Question Number : 115 Question Id : 6780943917 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

VWhat correctlv describes of atomie theorv

Options :

Natter is made up of protons
1

= Cells are basic wmut of lite

[t iz the characteristics and preperties of atons that make
ujpr maffer

L

Matter 15 made np of neutrons

Question Number : 116 Question Id : 6780943918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 1s immcorrect about Eignififﬂnce ok biolomical membranes l‘remg

selectivelt permealble !

Options :

[F permits selective uptake of nutrients and elimination of

W aste
1
Allowes cells to concentrate particular ions on either side
of the membrane
.
_ Prevents toxic miaterial brom enterine the cells
_'I. -
Hydvoplualic hieads are not imanerged i water
L _ _

Question Number : 117 Question Id : 6780943919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tollovwing is used for visnalization of mbermnal

struckure by projechion ot an electron beam on to the samyple !

Options :

. SEAI
 TEAM

&
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oferen miCroscope

e
.

(_ompound microscope

Question Number : 118 Question Id : 6780943920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Movement of molecules across the membrane against a concentration
eracient at the expense of ATE 12 calied

Options :
Active transport

=

Passive transport

Cla1nosls

L

Facilitated ditfusion

Question Number : 119 Question Id : 6780943921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T'he biological membranes are made up ok

Options :

1 Lipicds

Protents

L J

Carbohvrdrates

L

Lipoproteimns

Question Number : 120 Question Id : 6780943922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Votile bacterivn can be seen 1eith the help of
Options :

Bright Held microscope
1 '

EFlectron nucroscopy

!

Darkbeld microscopy

I

Fluorescence microscopy

Orientation : Vertical
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Alternate form of gene governing the expression of same trait that
occur at the same position on honwoiocous: chrommosomes are knowwn as

Options :

1 _hromatids

Altbosomes

L2

| Al]leles

L

s A

Question Number : 122 Question Id : 6780943924 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For Mendel's pea plants tall was donanant over Jdreart 11) and red (R)
was dominant over white tloveerz (P A plant soith genctipe ttlp
vwordd have the phenobvpe

Options :
Fall svitl white flovrera

divart vwith vwlate tlovvers

dvcart woith red Hlosver

L

Fall with red tlosver

Question Number : 123 Question Id : 6780943925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The condition that results tromn one allele attecting more than one trait

i= called

Options :

| Incomplete donunance

Fpiztasis

L

Partial donunance

Lo

Pletotropy

Question Number : 124 Question Id : 6780943926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tollowing 1= not true about meiosis!

Options :

&
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[t occurs in reproductive cells

1

. LEresults i towr haploid daushter cells
Homolosous paw are pulled apart

3
Ocours only in planta

4 '

Question Number : 125 Question Id : 6780943927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicly iz the correct order of orearnzsation of senetic material from
lareest to smallest?

Options :

Genomie, cloomosome, cene mclactice
1

sene , chromesome , nucleotide, zenone

Cluomoszsome , cene  cenone, mwleofide

oy

Clhuomoesome, renome, mecleotide |, zene

Question Number : 126 Question Id : 6780943928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What 15 a source of genetic rvecombination during gamete production?
Options :

Anttabion

CT05811 OVer

_ontrolled assortiment

L

Nondisjunction

Question Number : 127 Question Id : 6780943929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alales who have AXNY combination due to nondizjunction have the

corvdifion called

Options :

Tuwmer syndrome

&
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-

oy

Haemoyphilia
Klinefelter svndrome

[roven svnndrome

Question Number : 128 Question Id : 6780943930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mutations wluch exp
I
parvent the cene 1s passed tluoush are knowon as

Options :

!

L

Sex lidced inheritance
[Imprinting

FPenetrarce

Eyistasis

2 i el

s chifterentls Jdepencing o the sex of the

Question Number : 129 Question Id : 6780943931 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

1,

—

Lo

[I1version

. Iranslocation

Transversion

Dleletion

becomes reinserkecd 111 the reversed order, 1t 12 called a

When there are bivo brealie in a clwomosome and the detached seoment

Question Number : 130 Question Id : 6780943932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whach 15 true about heolandric genes!

L

L

Options :

Thev are carried onn X chromnosome

Thev arve carned on Y chromosome and can only be
passed bv males to their =ons

Thev code tor femalenes

Fi

~

i
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: Thev are transferted from mothers o daughters

Question Number : 131 Question Id : 6780943933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowing 1= not a sterilization method?

Options :
Steain

]:.}l".';-.' 11*:-"(__’11:

Fihvlene oxide

L

PEG Breatinent

Question Number : 132 Question Id : 6780943934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ot the tellowing 1s nsed tor iorezor radiation sterilization?

Options :
LV radiation

[saimma raciation

L

Formaclehyde

L

Nal ] reatinend

Question Number : 133 Question Id : 6780943935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tellovwwing 1= not an anthentic Microbial Culture

collection centre !

Options :

~ATCC
NCL
NEPGR

L A

L

AMTCC

Question Number : 134 Question Id : 6780943936 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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The munber of swviving microbial cells in the exponential death phase

are given in terms of

Options :

: Llaciinal deat titne

Lrecimial recduction e

L

Thermal death bme

oy

Lhermal death point

Question Number : 135 Question Id : 6780943937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which amone the tellotring 1s net a passervaiion miethod
Options :

| Freezing

MNhneral o1l Oserlay

Lyvophilisation storage in silica =el

L

Autoclaving

Question Number : 136 Question Id : 6780943938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

hemotherapeutic agent
Options :

1 Eills Hhe surtace

~ Is used for swntace sterilization

[z nsed internally to kill microbe with selective toxicity

Foncards microbes

Lo

[= 1tzed For disintection

Question Number : 137 Question Id : 6780943939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[he crowith phase when doubling time 1= constant and shortest 1s

Called
@collegedunias
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Log phase
],

Exponential phase

-

Stationary phase

Lo

Decliie Phase

Question Number : 138 Question Id : 6780943940 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ceneral puapose media supplementted by sprecial mutrients to
encowrage the srosvth of Fastidions heterotrophs 12 known as

Options :
Frorichedd media

Selechve media

L

[hiterential medha

L

Complex media

Question Number : 139 Question Id : 6780943941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Medha swhach favowrs the crowth of particular microbe and indabits

cflers 18 knoien as

Options :
Eariched media

. Belactive imecio

Ditterential media

I

Complexy media

Question Number : 140 Question Id : 6780943942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Nedia that distineuishes betiveen ditterent croups of bacteria on the
hazis of Hieir biological characteristics and causzes observable changes

113 meddia whent hochermical reackons occur 1s called

Options :

&
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Erriched mmedia

Solechive media

L J

Ditterential media

Lo

Complex media

Question Number : 141 Question Id : 6780943943 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I a plug tlow reactor, the highest concentration of substfrates is

exposed o the cells that

Options :
Are near the ettluent or exit of e reactoy

Arve in the mud wav along the reacios

L

) Arve located near entrars ot feed

Are near the wall of the reacton

Question Number : 142 Question Id : 6780943944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

11 ted batch noreactor modellintg, the rate of clhiange in the bioreacto

Tolume 15 assumned to be equal to
Options :

| Flow: rate

. Iimibal volhuone

YVoliune of solids 11 Hie reackor

Lo

Volume ot liguid

Question Number : 143 Question 1d : 6780943945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Production of organic acids i batch cultiwe 15 generally. gyowih
azzociated phase tollowed by non-growth associated production. The
probable reason for this 1s that

Options :

1 Creanic acids uncouple catabolizm trom Anabolism

plomass vields merease as the termentation Froceeds

— .
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Urmanic acids are secondary metabelites

I

Hizh concentrabions of orcanic acldl promcte the
crottl of the microbial population

Question Number : 144 Question Id : 6780943946 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The 1ideal tubular-tlow termenter v1thoait tadial aziabions 1= called a

Options :

Plue tlow termenter
1

Comitinuons shHrred tank termmenter (CSTE)

Colunio termenter

o

Rotabhnge druan fermenter

Question Number : 145 Question Id : 6780943947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the product formation iz approximatels equal to the rate of cell
srowtl, the pattern of product tormation is termed as

Options :

nncoupled
1.

crovth associated

non-crow th associated

Lo

metabolically uncoupled

Question Number : 146 Question Id : 6780943948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For combiniuous mode of operation the specibic mass balance equakion
for chemostat 1=

Options :

: Y =l S 1

L

L
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Question Number : 147 Question Id : 6780943949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vazt majorityv of clozed loop controilers vsed m biomocess

SIITIIEATINNS Al'Y

Options :

Proportional control
1

. Inkegral contreol

Acaptive control

L

Proportional mtesyal derivative (P10 control

Question Number : 148 Question Id : 6780943950 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Saturated clean steam is nsed for stenlization i place operations i

bioreactors. The opiimal steam presswae regquired is

Options :
10.2-10.% bar sauge
3
. 2.0-10.2 bar sauge
. L1I-1.4 bar gauge
3, h
12.3-16.0 bar zatee
4. L _

Question Number : 149 Question Id : 6780943951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sterilization i — place operation in a bioreactor mamly regquures a

complex arangement of pipe work |, valves and

Options :
Foain brealker
1.
Filters
8
~ hisht Glass
.

. Cold Water

Question Number : 150 Question Id : 6780943952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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[1n a 50 L Stirred Tank Bioreactor for amdmal or plant cell culture
applications the mnpeller speed should not excesd

Options :

150 rpin

120 rpein

g

M rpin

L

200 rpm

Question Number : 151 Question Id : 6780943953 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Polymerase chain reaction 1z wsed to
Options :

Amppelifv small ameamt of DINA

=t

Cleave the DI\ A

Seal the sticky end

I

[dentitication of plazmids

Question Number : 152 Question Id : 6780943954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During DN A replication what is the Hrst process to occia
Options :

Svnthesis of laseing strand

Unvinding of parental strand

N

Synthests of leading skrand

T
o

e

bealing of 1ucks betyveen short DN A secfionsa

Question Number : 153 Question 1d : 6780943955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process wwhere XN A 12 copied into messenger KN A 15 called

Options :

Translabion

&
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Translocabion

| 2

Transverion

oy

Iranscription

Question Number : 154 Question Id : 6780943956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wihacl 15 ot true about alkatonniaia !

Options :
It iz called black witie diseqze

[t iz inherited genetic disorder of phenyvlalnme and
trrosine metabolism

| 2

Attects glueociaudace

Lo

Homoeenistic acid buuld vp i Ehe body

Question Number : 155 Question Id : 6780943957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

DxaAis called double helix, VWhat does 1t mmiean?

Options :
| bwo Xshaped strands

Twvo loops like Hewre elght

g

Twvo spirals, like a tvisty ladder
3.

Isvo Y shaped strand
4

Question Number : 156 Question Id : 6780943958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ararose gel, electrophoresis separate nucleic acids based on theiy

Options :

1 (GO A+T content

Rafio of mnas:/ charge

L

Length

Lo

(higin of organisim

4.
&
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Question Number : 157 Question Id : 6780943959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al operon 12 a transcriphional unit in bacteria that contains

Options :

KANA polvmerase loading zones

A promoefer site, an operator site cne oy meors reculatory

TR

!

A promoter site, an operator <ife s bivo o1 more

. structhural genes

Trvo acting elements soith ranzacting tactors:

Question Number : 158 Question Id : 6780943960 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fukarvebic DN A replication 13
Options :

(onservative
1.

Somiconseryative

ispersive

L

Senu-dispersive

Question Number : 159 Question Id : 6780943961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which 1= an incorrect statemment about essential genes!?

Options :

Ezsential genes are relativel preserved throushout
bacterial kingdom than noneszential senes

1
Thew have hicher proportion of large and small proteins
Thew are thought to be crifical tor the suavival of the

y DFZAITISIN
Thev are not necessary tor surivival

4

Question Number : 160 Question Id : 6780943962 Display Question Number : Yes Single Line

Orientation : Vertical
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[PNA s made tromm RN A with the help of
Options :

Reztriction enzvime
1

Folimerase

-

Reverse transcriptase

L

Licane
o

Question Number : 161 Question Id : 6780943963 Display Qucestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Callns can be detizied as

Options :
1 A difterentiated 1mass of ceils

A1 mclitferentiated mrass of cells

; Shoot culbures

rranized culbhares

Question Number : 162 Question Id : 6780943964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Media moest seidelv used tor plant Bzsue culture

Options :

| LB media

Nuibrient azar

M5 mecia

L

Y EB media

Question Number : 163 Question Id : 6780943965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tollovwwing 1= not an application of plant tissue culbure?
Options :

Micropropazation

Haploid production

L

Protoplast tusion

L
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Wide hvbridization m field
4.

Question Number : 164 Question Id : 6780943966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enzvme combination used for protoplast 1zolation is
Options :

1 _ellulasze. Pectinase, Hemucellviiqce

Protease, ipase, xvlanaze

L

Ligasze, endomucleases

L

Palvimerases, proteases

Question Number : 165 Question Id : 6780943967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

MMajor component of plant cell vwall 1is

Options :

Peptidoglican

]

- Chitin

- Cellulose
Phospholipids

.

Question Number : 166 Question Id : 6780943968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicl part of the Ti plasnud gets fransterred to plant during
Tranztormation

Options :

1 I1-DNA

A nulence wenes

(Crigin of replication

L

{_tMrordrive

Question Number : 167 Question I1d : 6780943969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tollovwwing 1= not a direct gene ranster te
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Options :

1 & licroingec tion

FPEG mediated transtormat:on

I

(rerie o

L

A gmhwhﬂ's"um mediated transtormatiod

Question Number : 168 Question Id : 6780943970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whiclh of the tollowwing sene iz not a park of nibroeen Hxation!?

Options :

- onodd gene

it gene

1

Hup gene

L

Kol rene

Question Number : 169 Question Id : 6780943971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ot the tollowing plant does not have an association with

Eliuzobnn

Options :
| L eqitil
. Peas

. Altalta

L

Pumplin

Question Number : 170 Question Id : 6780943972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

PWhiuch of the follovwrim e 15 net applied tor sustained crop protection by
3 L F L |
preventine losses due to pesats and diseazes’
Options :

| Insecticicle act

[nterrated pest management

Plant quarantine
@collegedunias
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: LINA bankimne

Question Number : 171 Question Id : 6780943973 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Pranary cell cultiwes ave comyposed of cells taken directlv from
Options :

1 Cell= from dead animals

Cells taken divectly tromn lisiite animals

1

; Stern cells

Tiz211es fromm aceicdent <ites

Question Number : 172 Question Id : 6780943974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enzimes required tor establislunent of primars cell limes are
Options :

Trvpsin, Collagenases
L

Pectinase, cellulose

L2

Svlanace

Lo

Lipasze

Question Number : 173 Question 1d : 6780943975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicli amone the tolloveing is not related to puaitication of
phamaceutical products trom cell cultioes

Options :

The puarity muast falbil the specitications
1

Structie and activitv should be stable

I

Froduct should be free trom v1ruszes

L

MNodibications

Question Number : 174 Question 1d : 6780943976 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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The parameters maintained in CO2 incubator used in andmal cell

culture laboratory are

Options :

L %0y, A7, 100% hunndiby

OB, Ca, 3,90, 2% hanudiky

(1% C 0, 250, 3% humidity

J

(% C0y, 370C, 100% hunud:tv

Question Number : 175 Question Id : 6780943977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Advantage of using animal ceil: rather than nuciobial cells for the

procduction of recombinant proteins i

Options :

Post transeriptional modiHeation

DNA replication

franscription

L

Post brantelational mochitication

Question Number : 176 Question Id : 6780943978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the tollownig 1= used as a crvoprotectant

Options :

Dimethv] sulplhoxide

1

~ Sodium dedecy] sulphate
Fihvlene diamine tetra acetic acid

3

. Sertan

Question Number : 177 Question I1d : 6780943979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the tollowwing 1= not an application of organ culhae?
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1 Sty of pattern of grovvth

Bioas=as s tor ackion of dives and carcimosenic azents
- _ L J -

-

Production of tissues tor implantations

L

Frocduction of phivtochenicals

Question Number : 178 Question Id : 6780943980 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In micromjechon transgenic mumals can e produaced by transter ot
Options :

: [N A into somatic cell

DNA mto pronuclens of reproductive cell

L

KN A into somatic cell

L

RNA into promucleus of reproductive cell

Question Number : 179 Question Id : 6780943981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which ot the tollowing 15 nsed tor maintainine the pH of the media of
mMANIalian cell cultire
Options :

1 'herno] red

~ Neutral ved

Trvpan blue

I

Bromophenol blue

Question Number : 180 Question Id : 6780943982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The technique nof used tor organt culture is
Options :

| Plasinea clot

- Ratt methods

(o110l methocd

L
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Electroporation

Question Number : 181 Question I1d : 6780943983 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Whicl amony the tollowing is a DN A sequence database?

Options :
Crenhanls

'K

|

. oviss prot
.

TREAIBL

Question Number : 182 Question Id : 6780943984 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the follovwing 12 a protein sequence database?

Options :

| EMBL
(eribands

DDB

.

Lt as prok

Question Number : 183 Question Id : 6780943985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which 1s not an application of bioinformatics in Biotechnology!

Options :
Sequences and structure of genes and proteins

21 molecular sfructire

| 2

(Corome stricbure ancd bomcbons,

L

Ankisense teclmolosy

Question Number : 184 Question Id : 6780943986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which amnong the tolloteing BLAST mearch prosranune deals vweith
aunie acid sequences!?

Opti ! .
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pLAaSIN

. BLASTXN

; FBLASTN
BLASTE

4.

Question Number : 185 Question Id : 6780943987 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which statement is not correct about profeomics’

Options :
Allalvees all the protemns 1 a cell vl then

individual fmctions

Interaction of specihc proteins with other cellula

COLPOERts

L.

Study of cenome

L

Frotein interactions

Question Number : 186 Question Id : 6780943988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

~NECBL s
Options :

Nabional Center for Biotechnolooy Intormation
1. b

Natiomal Center tor Biolomical Intormabion

L J

N alonal Cender tor Biondormatics dtormation

Lo

~abonal Cenber tor Biochemical nformation

Question Number : 187 Question Id : 6780943989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tield of study inveolving the sequencing of the cenomes of
O1 2 A1MSIIS 15

Options :

. Proteomucs

ETIOIIY S

I
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~ Biomformatics
.

Molecular genetics

Question Number : 188 Question Id : 6780943990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Drthologues mean

Options :
Thev are related by deccent froan a coananen ancestor. Ohrtholosous genes
normally have the same cellular fancton.

3
Thev are related by descent from a commeon ancestor. Orthologous cenes
~ normally have the difterent cellular fnnekionn,
Thev are related by descent brow a Jditteren?t anwezton, Orthologons cenes
normally have the difterent cellular unction.
. )
Thev are related by descent from a difterent ancestor, Urthologowus genes
normally have the sames cellular tunction.
] |

Question Number : 189 Question Id : 6780943991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fhvlozenetic analvsis deals with

Options :
Fidimng out repetitive DN A

Finding out evolutionary relationship among
. biomolecules (DN A, Proteins)

Sorting out struchural and non-struchural genes

I

Findme out prometer recions

Question Number : 190 Question Id : 6780943992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicl 15 not a application of protecnomics technwlogy?

Options :

1 Profein expression mapping

Aamotabion of the zenome.

|

protein complex wdentification

J

sequence and shuckure of genes
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Question Number : 191 Question Id : 6780943993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the tollowing statement 12 corrvect about Coenzime 7

Options :

| Protein component oI eTizvIne

N\ O pIDEEiH Emnpmlent that bud vwith an eIz VIS T

. catalvze a reaction

Apcenzyme by non covalent bond

e

(_an hanction alone

Question Number : 192 Question Id : 6780943994 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whicl 12 1ot a brpe of enzvme spedciicty !
Options :

1 Albsolite

Group

Linkage

I

Single

Question Number : 193 Question Id : 6780943995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which does not attect enzvime activiby ?

Options :

Envirormnent condifiodls

Lelative humadity

|

Cotactors and coenziimes

L

Enziyme imiubikbors

Question Number : 194 Question Id : 6780943996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fach enzyme has classibicabion mmuanber consistingg of
Options :

Four dizifs
]
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L

Three dimit=
Lwo digits

Une cliot

Question Number : 195 Question Id : 6780943997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tendertzation of meat can be dene wins pectolivtae 2nzvmes such as

Options :

: Amilase

L

I

Lipolaze

Papam

—

F5eTdse

Question Number : 196 Question Id : 6780943998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I condectionary mclustry widch enzvnie 1s vsed tor inversion ot

sucrose to a misture of slucose and bructoss

Options :

1

| 2

I

Carboxyvlaze
[nvertaze
Celluzvme

Slalase

Question Number : 197 Question 1d : 6780943999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

Lyvoplalization

1

Covalent bonding

| 2

I

Entrapment

(ross linking

~

i

Which amone the tollowing i= not applied for enzvime immobilization?
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Question Number : 198 Question Id : 6780944000 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tvwo main types of secondary struciure of protein: are

Options :

1 Amine acid sequence

. «-helix and the {r-sheet

1 Acererate protein complex
A 3-1) sfructure

Question Number : 199 Question Id : 6780944001 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which is not a propertv of enzie: ]

Options :
Enzimes are proteins that increase the vate of reackion by
lowvering energy of activation

1.
Lhev catalvse nearls- all the chencal reachions ocomring
. in the body
s Nebaltered or consumed during reaction
) Nonrensable

Question Number : 200 Question Id : 6780944002 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whaclh is inworrect abouk the active site of an enzivme ?

Options :

The area where substrate attaches o

[f 12 a small region of enzvine

L

[F iz alarse resion of enzvine
] i) -

I

[f 15 a special pocket on clett
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